F3 4 5T =AKRE (REHKR)

1 (VSHliE)

5 R iR W R
1 —xFEAS W H 2—6 (Ve
2 —fkZ+D K« 5 4—6 HS - =4
3 | 45 LLEHFD i - A 2—6 BE - AAH
4 | 60 LA LB D Wty - -2 LA+ S
5 | 505%LL LD HIL - B IR 0—6 e - &)
6 —xE+DO sl KT -5 g - )1 A
7 — B +D@ Fo - miHE 1—6 MR - /N
f R 2—5
28 (VS KH)
2 iR KA
1 —#xFHFS i)l —5 JI E
2 —f D N —6 LA - 1L
3 | 45 LB FD PRl A 3—6 A -
4 | 60 LA LB +D W - Y 2—6 PN IV AR
5 | 50 5L L&D I - B-: FJE - AR
6 — %5 +DO AT - NH 0—6 Al e
7 —fE&BT+DO AT+ M 2—6 JUE] - &
fao R 3 =dl
%3 (VSHEER)
2 iR e Fo I
1 —#&kFFS =0 4—6 amlll
2 —fk#Z+D filh - U5 2—6 FAAR « Hhi
3 | 45 LEBFD il -t H 4—6 EAR RS
4 | 60 EEFD Wty - —6 K - EAR
5 | 50 8B L&D Il - B-o B - K
6 | —HBEFDO AT - M B-: AJT - U
7 | —mBETDO 0 - W B-: I - G
mo R 4—3




BAE (V SE)

5 R iR E Al
1 —#FHFS AT -2 FAAR
2 —ft+D N —4 B - Sk
3 | 45 EBFD i - A 2—6 HEFE - BFIRE
4 | 60 EEFD SRH - = H -0 kS - AH
(OPEN)

5 | 50 %L L7 D . IR -0 K[+ AR
6 | —MBFDOD L B Bl - P
7 — B+ D@ o - EW -3 B - KSR

f R 6—1
O HAHEHR

LN

B K A (400
BF R (3B 1RO
w3 B R (2B200
Fafr R (183050
oA E A (040




